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B. SC. (HONS.) IN BIOCHEMISTRY 

(BSCBCH) 

Term-End Examination 

December, 2024 
BBCCT-107 : ENZYMES 

Time : 3 Hours     Maximum Marks : 70 

Note : (i)  Attempt any five questions. 

 (ii) All questions carry equal marks. 

1. (a) What is a holoenzyme ? Describe 

‘coenzyme’ and ‘cofactor’ with two suitable 

examples each. 2+21
2
+21

2
=7 

(b) Define activation energy. Explain 

transition state theory using a coordinate 

plot.   7 

2. (a) Describe the effects of pH and temperature 

on enzyme activity. 8 
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(b) Define the following terms : 2×3=6 

(i) Turnover number 

(ii) Enzyme inhibitor 

3. (a) Discuss the following : 2×31
2
=7 

(i) Random order sequential enzyme 
catalyzed reactions 

(ii) Ping-Pong bi-bi enzyme catalyzed 
reactions 

(b) Describe any two types of reversible 

inhibition of enzymes. 2×31
2
=7 

4. (a) Define zymogens. Write a brief account on 
activation of Chymotrypsinogen. 2+5=7 

(b) Distinguish between reversible and 

irreversible covalent modification of 
enzymes. 7 

5. Write notes on any two of the following :  

2×7=14 
(a) Acid-base catalysis 

(b) Metalloenzymes 

(c) Action of Lysozyme  
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6. (a) What are isoenzymes ? Explain their 
physiological significance with a suitable 
example. 2+5=7 

(b) Describe the structure of fatty acyl 
synthase complex. 7 

7. (a) Discuss the role of enzymes in food and 
brewing industry. 7 

(b) Write about any three methods of enzyme 
immobilization. 7 
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ch- ,l&lh- (vkWulZ) tSojlk;u    

(ch-,l&lh-ch-lh-,p-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-ch-lh-lh-Vh--107 % ,atkbEl 

le; % 3 ?k.Vs     vf/dre vad % 70 

uk sV % (i) fdUgha ik ¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA  

1- (d)  gksyks,Utkbe D;k gS \ lg,Utkbe rFkk 

lgdkjd dks nks mi;qDr mnkgj.kksa lfgr 

le>kb,A 2+21
2
+21

2
=7 

([k)  lfØ;.k ÅtkZ dks ifjHkkf"kr dhft,A ,d 

leUo; IykWV dk mi;ksx djds laØe.k voLFkk 

fl¼kUr dh O;k[;k dhft,A 7 

2- (d)  ,Utkbe fØ;k ij pH vkSj rkieku ds izHkko 

dk o.kZu dhft,A 8 
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([k)  fuEufyf[kr inksa dh O;k[;k dhft, % 2×3=6 

   (i) VuksZoj la[;k 

   (ii) ,Utkbe eand 
3- (d)  fuEufyf[kr dk fo'ys"k.k dhft, % 2×31

2
=7 

  (i) Øefoghu vuqØfed ,Utkbe mRizsfjr 

vfHkfØ;k,¡ 

  (ii) fiax&iksax ckbZ ckbZ ,Utkbe mRizsfjr 

vfHkfØ;k,¡ 
([k) mRØe.kh; ,Utkbe eand ds fdUgha nks izdkjksa 

dk o.kZu dhft,A 2×31
2
=7 

4- (d)  tkbekstuksa dks ifjHkkf"kr dhft,A dkbeks& 

fVªfIlukstu ds lfØ;.k ij laf{kIr fooj.k 

fyf[k;sA 2+5=7 

([k)  mRØe.kh; rFkk vuqRØe.kh; lgla;ksth ,Utkbe 

la'kks/u ds chp vUrj dhft,A 7 

5- fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k¡ fyf[k, %  

2×7=14 

(d)  vEy&{kkjd mRizsj.k 

([k)  /kfRod ,Utkbe 

(x)  ykblkstkbe fØ;k dh fØ;kfof/ 
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6- (d)  vkblks,Utkbe D;k gksrs gSa \ mi;qDr mnkgj.k 

ds lkFk mudh 'kjhjfØ;kRed Hkwfedk dh 

O;k[;k dhft,A 2+5=7 

([k)  iQSVh ,fly flUFkst dkWEIysDl dh lajpuk dk 

o.kZu dhft,A 7 

7- (d)  [kk| vkSj fulou m|ksx esa ,Utkbeksa dh 

Hkwfedk ij ppkZ dhft,A 7 

([k)  ,Utkbe fu'pyhHkou dh fdUgha rhu fof/;ksa 

ds ckjs esa fyf[k;sA 7 

 

 

 

 

 

 

 

× × × × × × × 

A–197/BBCCT–107   


